ITEREFSEEN

FERE ALSMEORBDOSELT 50 RIEBVAVEBREENESELLTHRTY S
LDTHY . RHUHRFE1FDOHRARETIHYVFELE A REEIIANLSMELRZNERITTES
EE TR EL TS,

F-. COERFIRHEMRT 5L TG COERELSTERZEDOHEICIELEE A,

BE.AEHOBEDHRIT. COTEDORALAETELET,

T4 MiLmRE RIS B IE TS

4 54 9A
—RREEEAN BEMERESHKT THEEIRMER 2023.7 25
B{f@EA A —REBEEAN BFRESFET FHEERITEM 20237 25
— R EE AN BEYERESRIT ATIERYIE 202395
— BT EEAN BFABESHKT ATBREEHM 2023985
NHEETEREEE(SHIER)
et e e NHBEETEREHEESEN (FMIFIF280 EEEE12-15)
RIS AR BEMEL 2T LERRFASHY (STAER)
ERBEEARFRAY=A7IIL(SHSE4A)
¥5I% BE-XT=E
ITREAIRS BEREIE. BEZOMIE
FHBOLENZLLDLENIE BZELGEL
3 |[HRBRBEEEEIH 26 A
B |%EIE #L
f%; ZOHIE 7L
W |esmEs L
EENDRIEFFDMHIE HY
ATEALVER RN KALEZXHESICLHMEIHYEEA,
BRI E SSEL)N
(EIEETLED)
BB RSy TER A
1 FA B i
TILE RSV TR 7L
1 FA B i
BEAILERAREE A
HRATIE
HEATH

% 5k T



(FERFERELS)
BEIE

IHE H B OE = | B
S EZEEB 20 A
HhS5—a—> 1M™A EARH., a—>oITqhH 190 | 1A
a—28— 1MA L2000 E AR 180 &
BERXEIE

1IH H O = | B
HWERELIS

5 B B = HE | B
(RiFEEERE L)
BETE

1IH H O = | B
ERIE

5 B B = HE | B
HWERELISE

1IH H O = | B
(ZD1th)
BETE

IE H wm O=E = | B
EIEIZESA/ 5= W=50 L=1150 X 14K 16.1] m

% 5k T




IH B W = # B

felo

BHEETSE

17 B wm = # B

il

1. BEMULDEDERYFZLZDLNT
HREMUNBEEHTHRITIEEE. oD EAOKERBRERVRIGEREEZHETELLL,
2. EIRLREISEE—HELTRETHES
(MABRFERVRSGEEEI. FEIZLIEIZICRSLTEET S,
Q) HBREEXERVRSGEEERI. FEISLIMEIFTOERIFTEOAHEEICHIIHEIS LSS
TEOHBRZER MIEEOAFHEEICHIIFEIRLHNEIENRIGFEEERLT S,
B)BALIFICKIHBRZERVRSGEEEIHEISLHNEIZOSLELIETORBRBEXIIERS
EEEICET LTS,
(4)—REBEI. FEIBLNMEIEZNDIERMOSEEEICHTI—REBEERICIYEET S,
3. Y EEFHEEME DT
MifEERBHMIZELLEL. RAIWIT AR LEAEFRAT S, L. BEMEN TN TN TREKEL DS
BFEITHEFRERT 5, (FHEZZEALTWSIESIEEERIC )
4. BEEIEEDEHEIZDONT
(M AEBETEBEREEICBTS, ZOMEBE(THETHERE) IZIEEOPRIEFRRAT 5.
() HBREEB LD, TOME(THEITERE) IFBEEAREL. REOPHEEZERRAT 5,
BL. BEEHERICOVWTIX FREERY. MlEHOBEMEL. ZDMETB(FFELAL,

% 5k T




RAEMIRANSE)

&S % FR i = B L Bl
BEITR
(JMEIE)
1 |REMLS X = 50,000
2 |FEEMLS HEHL = 50,000

% sk T




